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gpupT 1 

 
tpdh ,y. 01  
 
1(a) 
 
1.1  
 

 
1.2 

 
 
1.3 

 
 
 
 

cupa fw;if ntspg;ghL:   1.1.2 
tpil : C 
 
Neu;f; fpuak; khWk; fpuakhf my;yJ epiyahd fpuakhf ,Uf;fyhk; - (i) jtwhdJ.  
FWq;fhyj;jpy; epiyahd fpuak; fl;Lg;gLj;jf;$bajhf ,Uf;fyhk; - (ii)  jtwhdJ . 
(iii) rupahdJ. 
 
vdNt rupahd tpil C MFk;. 

cupa fw;if ntspg;ghL :   1.1.2 
tpil  : B 
 
FWq;fhyj;jpy; cw;gj;jp khw;wj;Jld; epiyahd fpuak; khwhjikapdhy; tiuglk; A 
rupahdJ.  
FWq;fhyj;jpy; cw;gj;jp khw;wj;Jld; mynfhd;wpd; khWk; fpuak; khwhjikapdhy; 
tiuglk; B rupahdjhFk;. 
FWq;fhyj;jpy; cw;gj;jpapy; mjpfupg;Gld; mynfhd;wpw;fhd epiyahd fpuak; tPo;r;rp 
miltjdhy; tiuglk; C Ak; rupahdNj. 
cw;gj;jp vJTk; ,y;yhjNghJ khWk; fpuak; ”[;akhtjdhy;> tiuglk; D jtwhdJ.  
 
vdNt rupahd tpil B. 
 

cupa fw;if ntspg;ghL :   2.3.1 
tpil  : D 
 
jpdrup ,il (mean) cw;gj;jp  = (10*18+20*15)/30 = 16 
epak tpyfy; = √[(2950 + 5000)/30 - (16 x 16)] =  3 
 
vdNt rupahd tpil D. 
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1.4 

 
1.5 

 
 
1.6 
 

 
 
 
 
 
 
 

cupa fw;if ntspg;ghL :   2.6.1 
tpil  : C 
 
KjyhtJ Rl;bapd; mbg;gilapy; A rupahdJ. 
B rupahdJ:  nrytpdk;kPJ tpiy mjpfupg;gpd; jhf;fk; 40%; nryT 30% tPjj;jpdhy; 
khj;jpuk; mjpfupg;gpd;> Efh;T Fiwtile;jpUf;f Ntz;Lk;.  
C jtwhdJ:  ,uz;lhtJ Rl;bapd; mbg;gilapy; 40% mjpfupg;G Vw;gLtJ nrytpy; 
MFk;. tpiyapy; my;y.   
,uz;lhtJ Rl;bapd; mbg;gilapy; D rupahdJ. 
 
vdNt rupahd tpil C. 
 
 

cupa fw;if ntspg;ghL :   2.1.1 
tpil : D 
 
A, B kw;Wk; C kPJ fopT 20%. 
D kPJ fopT 25%. 
 
vdNt rupahd tpil D. 

cupa fw;if ntspg;ghL :   5.1.1 
tpil : C 
 
epakq;fs; elg;Gr; nraw;ghLfspd; mbg;gilapy; miktjhy; A jtwhdJ. 
milaf;$ba epakq;fis mwptjpy; tpuaq;fs; kw;Wk; rhjhuz ,og;Gf;fs; nrk;ik 
nra;ag;gLtjhy; B jtwhdJ.  
ey;y ghjPl;Lf; fl;Lg;ghl;L Kiwik ,y;yhtpby; epakf; fpuakply; Kiwik ntw;wp 
mila khl;lhJ vd;gjdhy; C rupahdJ.   
epakf; fpuakply; Kiwik kjpg;gPLfis Nkw;nfhs;Sk; xU Kiw my;y. Mjyhy; 
D jtwhdJ.   
 
vdNt rupahd tpil C. 
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1.7 
 

 

     1.8 

cupa fw;if ntspg;ghL:   4.1.1 
tpil: D 
 
(i)    jtwhdJ; AER ,id fzpf;Fk;NghJ gFjpnaz; KjyPLnra;j njhifahFk;.            
         mjhtJ &gh. 89,286 
(ii)   jtwhdJ. fhyj;Nja;khd tl;b re;ijg; ngWkjp kw;Wk; rPh;kjpg;Gf;F ,ilapyhd 

tpj;jpahrk; my;y. 
(iii)  Muk;g tl;b tpfpjk; = (100,000 - 89,286)/89,286 = 11.99% 
         6 khjq;fspd; gpd;dh;, (((100,000 - 94,787)/94,787)*2)% = 10.99% 
         tl;b tpfpjk; tPo;r;rpaile;J cs;sjdhy; $w;W jtwhdjhFk;.  
 
vdNt rupahd tpil D. 
 

     
1.9 
 

 
 
 
 
 
 

cupa fw;if ntspg;ghL :   2.4.2 
tpil : C 
 
fzf;fpaiy khj;jpuk; nra;Ak; khzth;fspd; vz;zpf;if = 100 – 30 = 70 
,ize;j fzpjj;jpid khj;jpuk; nra;Ak; khzth;fspd; vz;zpf;if = 80 – 30 = 50 
xU ghlj;jpid nra;tjw;fhd epfo;jfT  = ((100 – 30) + (80 – 30)) / 300 
 
vdNt rupahd tpil C. 
 

cupa fw;if ntspg;ghL :   2.5.1 
tpil : A 
 
(i)      jtwhdJ;  tPr;rkhdJ  ,ilf;F ,UGwKk; fpl;lj;jl;l  3 klq;F epak tOthFk;   
(ii)     rupahdJ. 
(iii)  rupahdJ;  epak tO   SE = 600/    36  = 100 
 
vdNt rupahd tpil  A. 
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1.10 
 

 
xt;nthU tpdhTf;Fk; 2 Gs;spfs; tPjk;. nkhj;jk; 20 Gs;spfs;. 

 

1(b) 

 

1.11 

 

1.12 

 

 

 

cupa fw;if ntspg;ghL :   5.2.1 
tpil : B 
 
tpw;gid tpiy Kuizf; fzpg;gjw;F tpiy tpj;jpahrj;jpid my;yJ ,yhg vy;iy 
tpj;jpahrj;jpid ghjplg;gl;l tpw;gidf; fzpaj;jpdhy; my;yhJ cz;ik tpw;gidf; 
fzpaj;jpdhy; ngUf;fNtz;Lk;.  
 
vdNt rupahd tpil B. 

cupa fw;if ntspg;ghL :   3.2.2 

(i)   nghUl; fl;lisaplw; fpuak; - fl;lisfspd; vz;zpf;if  

(ii)  nghUl; ifahs;iff; fpuak; - njhf;fpy; / cw;gj;jp Xl;lj;jpy; itj;jpUf;fg;gLk; 
nghUl;fspd; ruhrupf; fzpak;.  

(iii) ve;jpu guhkupg;Gf; fpuak; - ve;jpu gad;ghl;L Neuk;/cw;gj;jp Xl;lk;/ve;jpu jahh;g; 
gLj;jy;fspd; vz;zpf;if                                                              

 

Fwpg;G:  khzth;fs; Nkw;$wpatw;wpypUe;J NtWgl;l fpua ,af;fpfis (cost drivers) 
Fwpg;gpl;bUf;ff;$Lk;. mit nghUj;jkhdit vdpy; Gs;spfs; toq;fg;glyhk;.   

cupa fw;if ntspg;ghL :   4.2.1 

PV = 1000 x [(1/1.10) + (2/1.102) + (22/1.103) + ………….+ (214/1.1015)]      

      =  1000 x (1/1.10) x      (2/1.10)15 – 1                      

                                                      (2/1.10) – 1        

      = 1000 x (1/1.10) x 9,586 

      = &gh. 8,714,545     
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1.13 

       

 1.14 

cupa fw;if ntspg;ghL :   4.2.1 

31MtJ gpwe;jjpdk ;--------30 Mz;Lfs;------>60 MtJ gpwe;jjpdk;  -----> 61 MtJ 
gpwe;jjpdj;jpypUe;J  -------> 15 Mz;Lfs;----> 
 
Xa;{jpa PV (30 MtJ gpwe;jjpdj;jpy; ) = 300,000 x 6.811 x 0.0334 = 68,246 
 
30 Mz;LfsPwhf jtizf; nfhLg;gdT = 68,246 / 8.055 = Rs. 8,472.53             

12% g;gb 15 Mz;LfSf;F jpus; fopTf; fhuzp 6.811 

12% g;gb 30MtJ Mz;bw;fhd fopTf; fhuzp 0.334  

30 Mz;LfSf;F jpus; fopTf; fhuzp 8.055 

khw;W top; 

S = A[(1+r)n - 1]/r 

S = 300,000[(1+0.12)15 - 1]/0.12 = 11,183,914.4 

FV = PV(1+r)n 

11,183,914.4 (1+0.12)15 = 2,043,259 

2,043,259 = A[(1+0.12)30 - 1]/0.12 

A = tUlhe;j jtizf; fl;lzk; = &gh. 8,466.57 

cupa fw;if ntspg;ghL :   1.2.2 
(i)   thlif xU epiyahd nfhLg;gdT. mJ njhf;F mstpy; jq;fpapUg;gjpy;iy. 

vdNt ,J njhf;F itj;jpUj;jw; fpuakhfhJ.  

 
(ii)    fhg;GWjpf; fpuak; -  itj;jpUf;Fk; njhf;F mbg;gilapyhd mjpfupg;Gf; fpuak;. 

vdNt> ,J njhf;F itj;jpUj;jw; fpuakhFk;. 
(iii)   gz;lfrhiy Kfhikahsu; rk;gsk; njhf;fpd; mstpd; mbg;gilapy; khWglhJ. 

vdNt ,J njhf;F itj;jpUj;jw; fpuakhfhJ.  
epahag;gLj;jhJ njhlh;G khj;jpuk; Fwpg;gplg;gl;bUg;gpd;> xJf;fg;gl;l Gs;spfspy; 50% 
Gs;spfs; toq;fg;gLk;. epahag;gLj;jy;fs; NkNy tpilapy; fhl;lg;gl;lthW njspthf 
,Uj;jy; Ntz;Lk;. ,J njhlh;Gila njhf;F itj;jpUj;jy; / fl;lisaplw; fpuak; 
Nghd;w tpilfs; rupahd epahag;gLj;jy;fshf nfhs;sg;gl Kbahjit. 
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1.15 

 
1.16 

 

1.17 

cupa fw;if ntspg;ghL :   1.2.2 
kPs;fl;lis kl;lk; = 75 x 6 = 450fp.fpuhk;                                              
cr;r kl;lk; = 450 + 300 – 25 x 4 = 650 fp.fpuhk;                                 
mjpjho;thd kl;lk; = 450 – 50 x 5 = 200 fp.fpuhk;                      

 

cupa fw;if ntspg;ghL :   2.2.1 
     

                                                          mjpjho;             cr;r 

Tpw;gidf; fzpak;                     80                  120        
Mynfhd;wpd; tpiy                190                  210                                

khWk; fpuak;                                  90                  110 
epiyahd fpuak;                    3,750               6,250 
 
,yhg kjpg;gPL = (200 - 100) x 100 - 5000 = 5000                            
 
mjpFiwe;j ,yhgk; = (190 - 110) x 80 - 6250 = 150                     
 
cr;r ,yhgk; = (210 - 90) x 120 - 3750 = 10,650                            
cah;e;jgl;r tO = +5650 my;yJ - 4850 
 
cah;e;jgl;r tO = + 5650                                                                       
 

 
 

cupa fw;if ntspg;ghL :   6.1.1 
     

p = 21 - 3q        nkhj;j tUkhdk; (TR) = pq = 21q - 3q2       

nkhj;jf; fpuak; = 4q + 10                                                                                               
,yhgk; = TR - TC  = -3q2 + 17q – 10 
 
Rkg;ghl;Lg; Gs;spapy; ,yhgk; = 0,        3q2 - 17q + 10 = (3q - 2)(q - 5) = 0 
q = 2/3 my;yJ q = 5; Mdhy; q ≥ 1, vdNt q = 5                                                      
 
p = 21 - 3q = 6 
rkg;ghl;L tpw;gid tpiy = Rs. 6                                                                                      
 

(nkhj;jk;:  3  Gs;spfs;) 
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1.18 

 
1.19 

 
 
 
 
 
 

cupa fw;if ntspg;ghL :   1.1.3 
     

                                                                 cw;gj;jp         fpuak; (&gh. kpy;ypad;) 
mjpAah; kl;lk;                                      42,000                       25.00 
mjpjho; kl;lk;                                       23,000                       21.20                          
tpj;jpahrk;                                               19,000                          3.80 
 
myfpd; khWk; cw;gj;jpf; fpuak; 3,800,000/19,000          = &. 200.00                  
khj epiyahd cw;gj;jpf; fpuak; (25kpy;yp - (42,000*200)) = &. 16.60 kpy;yp   
Mz;bw;fhd epiyahd cw;gj;jpf; fpuak;       = &. 199.20 kpy;yp    

cupa fw;if ntspg;ghL :   2.1.1 
     

fhl;rp tpiy                1,000 
fopT                               (50) 
tpw;gidg; ngWkjp        950                                                                            
tpw;gid tup                  (114) 
                                              836 
nfhs;tdTf; fpuak;    (711) 
                                             125                     100 
tUkhd tup                     (25)                    (20)                                                  
epfu ,yhgk;                    100                       80 
 
,yhg mjpfupg;G (Mark up) = (1000 – 711) / 711 = 40.65%                  
 
 

khw;W top ; 
fhl;rp tpiy &gh 1000 MfTk;> nfhs;tdTf; fpuak; &gh Y. vdTk; nfhz;lhy;; 
tpw;gid tpiy = 1000*95% = 950 
tpw;gid tup = 950*0.12 = 114 
tUkhd tup = (950-114-Y)20% = 167.20 - 0.2Y 
vjph;ghh;f;Fk; ,yhgk; = 1000*10% = 100 
vdNt; 950 -114 - (167.20 - 0.2Y) - Y = 100 
Y = 711 
vjph;ghh;f;fg;gLk; ,yhgj;jpw;fhd mjpfupg;G = ((1,000-711)/711)% = 40.65% 
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1.20 

 
xt;nthU tpdhTf;Fk; 3 Gs;spfs; tPjk;. nkhj;jk; 30 Gs;spfs;. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

cupa fw;if ntspg;ghL :   1.2.1 
     

 njhlh;r;rpahd cw;gj;jpf;F Nghjpa nghUl;fs; fpilj;jy;. Kiwahd njhf;F 
Kfhikj;Jtk; njhf;Fg; gw;whf;Fiwapdhy; cw;gj;jp jilg;gLtjid jLf;Fk;. 

 njhf;Ff; fl;lisapLjy; kw;Wk; njhf;F itj;jpUj;jw; fpuaq;fs; mjpFiwe;j 
kl;lj;jpy; Ngzg;gLk;.  

 nghUl;fs; kw;Wk; cw;gj;jpapd; juq;fis NgZtjw;F trjpnra;Ak;.  
 kpifj; njhf;Fg; Ngzy; kw;Wk; bjhf;F tof;fpog;gpid jtph;f;Fk;.  
 njhiff; nfhs;tdTf; fopTfs; fpilf;fg;ngwpd; njhf;Ff; nfhs;tdTf; fpuak; 

Fiwf;fg;glyhk;.  (khzth; ntWkNd njhf;Ff; nfhs;tdTf; fpuak; Fiwf;fg; 
glyhk; vdf; Fwpg;gpl;bUg;gpd; Gs;spfs; toq;fg;glf; $lhJ.) 



Suggested Solutions (KE2) March 2015 (Tamil medium)                                                                                                                     Page 10 of 18 

 

gpupT 2 

tpdh 02  
 

 
 
 
 

cupa fw;if ntspg;ghLfs; :   1.4.1 / 1.4.2 

    1.                                                                   cw;gj;jp myFfs; 

    Muk;g kPjp                                                             500.00 

    nghUl;fspd; cs;sPL                                20,000.00 

                                                                                20,500.00 
 

    rhjhuz ,og;G (5%)                                   (1,000.00)                      

    mrhjhuz ,og;G                                             (200.00)                       

    ,Wjpg; gFjp Kbtile;j nghUl;fs;      (300.00) 

    nrad;Kiw 2  f;F khw;wpa cw;gj;jp    19,000.00 
 

2.   rkhd myFfs; gw;wpa $w;W 
 

 ntspaPl;L myFfspy; 

 % ”h;j;jp nghUl;fs; cUkhw;wk; 
ngg;utupapy; ”h;j;jpahd 
myFfs;  (18,500) 

100% 19,000 19,000 

mrhjhuz ,og;G (200) 100% 200 200 
,Wjpg; nghUl;fs; (300) 60% 300 180 
nkhj;j rkhd myFfs;  19,500 19,380 

 

    fpuaf; $w;W 
 

  nghUl; fpuak;       cUkhw;wk; 

Muk;g WIP (&. ‘000)            1,275.00         155.10  
khjj;jpy; Nrh;g;gdT (&. ‘000)          48,450.00      7,500.00  
nkhj;jf; fpuak; (&.  ‘000)          49,725.00      7,655.10  
rkhd mynfhd;wpd; fpuak; (&. )            2,550.00         395.00  

 

    nrad;Kiw 2 f;F khw;wg;gl;l KbTw;w nghUl;fs; 

    Muk;gg; ngWkjp (&.  2550 + &.  395)*19,000 = &. 55,955,000        

 

    ,Wjpg; gFjp Kbtile;j nghUl;fs;                        &gh. 

    nghUl;fs; (300 myFfs;* &.  2550)                      765,000.00 

    cUkhw;wf; fpuak; (180 myFfs;*&.  395)            71,100.00 

    ,Wjpg; gFjp KbTw;w nghUl;fspd; ngWkjp    836,100.00              
 

Fwpg;G:  tpdhtpy; Nfl;fg;glhjNghjpYk; rpy khzth;fs; nrad;Kiwf; fzf;fpid jahupj;Js;sdh;. 
vdpDk;> Nkw;gb fw;if ntspg;ghL njspthff; fhl;lg;gl;bUg;gpd; Gs;spfs; toq;fg;glyhk;.  
 

(nkhj;jk;:  10  Gs;spfs;) 



Suggested Solutions (KE2) March 2015 (Tamil medium)                                                                                                                     Page 11 of 18 

 

tpdh 03 
 

cupa fw;if ntspg;ghLfs; :   3.1.1 / 3.1.3 

    1.     nrad;Kiw    

         khWk; fpuak; (200 + 80 + 50)                       330 

         epiyahd fpuak; (8,000,000/320,000)    25 

         nkhj;j cw;gj;jpf; fpuak;                                     355 
   

        vy;iyf; fpuakply;    

                                                     fhyhz;L 2 (&gh. '000) 

         tpw;gid (90,000 x 900)                          81,000   

 

         Muk;gj; njhf;F (10,000 x 330                          3,300                                          

         khWk; cw;gj;jpf; fpuak; (100,000 x 330)    33,000   

         ,Wjpj; njhf;F (20,000 x 330)             (6,600)                                         

                                                                    29,700        [90,000 x 330] 

          khWk; tpw;gid> tpdpNahff; fpuak;              2,700         [90,000 x 30] 

                                                                    32,400    
 

           gq;fspg;G                                                     48,600      [90,000 x (900-360)] 
    

          epiyahd fpuaq;fs;   

          cw;gj;jp (8,000/4)                                         2,000   

          tpw;gid> tpdpNahfk; (1,600/4)                 400                                             

          epUthfk; (2,400/4)                                            600   

                                                                     3,000   

           ,yhgk;                                                         45,600                                              
 

           cwpQ;rw; fpuakply;   

                                                        fhyhz;L 2 (&gh '000) 

            tpw;gid (90,000 x 900)            81,000   
    

            Muk;gj; njhf;F(10,000 x 355)                     3,550                                              

            cw;gj;jpf; fpuak; (100,000 x 355)           35,500   

            ,Wjpj; njhf;F (20,000 x 355)            (7,100)                                             

                                                                   31,950       [90,000 x 355] 

                                                                   49,050       [90,000 x (900-355)] 
    

            cw;. Nke;jiy Fiw/(kpif) cwpQ;ry;    (500)     [(100,000 - 80,000) x 25]   

            Vida Nke;jiy:  tpw;gid> tpdpNah    3,100       [1,600/4] 

                                                    epUthf                              600       [2,400/4]                                

                                                                                              3,200         

            ,yhgk;                                                   45,850                                                      
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2.    vy;iyf; fpuakplypy; rfy epiyahd fpuaq;fSk; fhyf; 
   fpuaq;fshff; fUjp nrythff; nfhs;sg;gLk;.  

                                                                                                                                                       
       cwpQ;rw; fpuakplypy; ,Wjpj; njhf;fpy; cs;slf;fpa  

epiyahd fpuak; mLj;j fhyj;jpw;F Kd;nfhz;L nry;yg;gLk;.          
         

 

 

3.     fhyhz;L 2                   &gh. '000 

         ,yhgk; - vy;iyf; fpuakply; Kiw                    45,600 

         $l;L: ,Wjpj; njhf;fpy; cs;slf;fg;gl;L mLj;j  
    fhyj;jpw;F Kd; nfhz;Lnry;yg;gl;l 
    epiyahd fpuak;    (20,000 x 25)                                                   500 

         fop:  Muk;gj; njhf;fpy; mlf;fg;gl;L fle;jfhyj;jpy; 

    ,Ue;J fPo;f;nfhz;Lte;j epiyahd fpuak; (10,000 x 25)   (250)         

        

        ,yhgk;- cwpQ;rw; fpuakply; Kiw                                 45,850 

 

(nkhj;jk;:  10  Gs;spfs;) 
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tpdh 04 

cupa fw;if ntspg;ghLfs; :   4.2.2 / 4.2.3 

1.    15% fopT tpfpjj;jpy; Rent-a-car nraw;jpl;l kjpg;gha;T 
       

                           fhyk;      ngWkjp (&. '000)     DF PV (&.) 

fhh;fspd; ,wf;Fkjpf; fpuak;      Mz;L 0            (80,000)           1.000     (80,000)    

kPs;tpw;gidg; ngWkjp                    Mz;L  4            24,000             0.572   13,722     

Muk;gg; gjpT                         Mz;L  0              (1,500)            1.000    (1,500)   

epiyahd tUlhe;j fpuak;         Mz;L  1-4         (5,000)            2.855     (14,275)   

thlif tUkhdk; (320*8,000)  Mz;L  1-4        51,200             2.855    146,176       

nraw;gLj;jy; (40%*320*8,000)  Mz;L  1-4      (20,480)            2.855     (58,470)      

jupg;gpl mwtPL (Fwpg;G 01)                   -                     -                    -             -    

ghJfhg;G mYtyh; rk;gsk;        Mz;L   1-4   (240)            2.855       (685)      

epfu ,w;iwg; ngWkjp (NPV)                                              4,967        

 

 

Fwpg;G 01: fk;gdpapd; fz;Nzhl;lj;jpy; jupg;gpl mwtPL xU mjpfupg;Gf;  
        fpuaky;y. ,J fk;gdpf;F ntspNa nry;yhj nfhLg;gdthFk;.      
                    vdNt> ,J njhlh;gw;w fpuakhFk;.  
  

NPV Neh;g; ngWkjp Mjypdhy; nraw;jpl;lk; gupe;Jiuf;fg;gLfpd;wJ.                 
 

Gs;spaplw; jpl;lk; -  epfu fhRg;gha;Tf; fzpg;gPl;by; jupg;gplf; fl;lzk; / Nja;khdk; 

Nghd;w njhlh;gw;w nrytpdq;fs; cl;gLj;jg;gl;bUg;gpd;>  NPV f;F xJf;fg;gl;l 
Gs;spfspy; 50% Gs;spfs; Fiwf;fg;gLk;.  
 

khw;W tpil:      

                                                Y-0                  Y-1                Y-2             Y-3         Y-4 

,wf;Fkjpf; fpuak;                 (80,000)      -                     -                 -              -    

kPs;tpw;gidg; ngWkjp                   -                       -                     -                 -          24,000  

Muk;gg; gjpT                 (1,500)       -                     -                 -                  -    

epiyahd tUlhe;j fpuak;       -                (5,000)          (5,000)         (5,000)        (5,000) 

thlif tUkhdk;                       -                51,200           51,200          51,200         51,200  

nraw;gLj;jy;                                    -              (20,480)        (20,480)      (20,480)     (20,480) 

jupg;gpl mwtPL (Fwpg;G 01)        -                     -                 -                   -    

ghJfhg;G mYtyh; rk;gsk;      -                   (240)              (240)            (240)           (240) 

NCF                                          (81,500)         25,480           25,480         25,480        49,480  

DF @ 15%                                1.000   0.870             0.756           0.658           0.572  

DNCF/PV                             (81,500)        22,168           19,263         16,766        28,303  

NPV                                              4,999          
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khw;W tpil:    rpy khzth;fs; fhnuhd;wpd; mbg;gilapy; nraw;jpl;l ,yhgj;jpwid 
kjpg;gpl;bUf;ff;$Lk;. mjw;Nfw;g Gs;sp toq;fTk;.   

 

2.  -     NPV MdJ nraw;jpl;lj;jpd; vy;yhf; fhRg;gha;TfisAk; fzf;fpw;nfhs;Sk;NghJ> 
kPs;nrYj;Jif KiwahdJ kPs;nrYj;Jiff; fhyk; tiuapyhd fhRg; 
gha;Tfis khj;jpuk; fUj;jpw; nfhs;fpd;wJ. 

 

- NPV,  foptplg;gl;l fhRg;gha;Tfis fzf;fpw;nfhs;Sk; mNjNtis foptplg;glhj 
kPs;nrYj;Jif Kiw foptplg;glhj fhRg;gha;Tfis ftdj;jpw; nfhs;fpd;wJ. 

 

- NPV, kuGuPjpaw;w fhRg;gha;TfSf;Fk; gad;gLj;jf;$ba NghjpYk; kPs;nrYj;Jif 
Kiwapid mj;jifa re;jh;g;gq;fspy; gad;gLj;jKbahJ.  

 

- kPs;nrYj;Jif KiwahdJ xd;wpnyhd;W GwePq;Fk;  (mutually exclusive) nraw; 

jpl;lq;fis xg;gpLtjw;F Vw;w mstPL my;y.  NPV xU rpwe;j Njh;thFk;.  

 

 

(nkhj;jk;:  10  Gs;spfs;) 
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tpdh 05 

 

 

cupa fw;if ntspg;ghL :   6.2.1 

1.       tUkhdk; R =  V x P                                               

                                         R =  (t2 – 54t + 765) x (t/3 - 5)                          

                                         R =  t3/3 – 23t2 + 525t – 3825                       

 

          R cr;rkhf cs;sNghJ, dR/dt = 0                                           

                                       dR/dt = t2 – 46t + 525 = 0  

                          (t - 21) (t - 25) = 0  

                           t = 21 or t = 25                                      

     

 d2R/dt2 = 2t - 46                                                         

 d2R/dt2 (t = 21) = -4 (< 0; R cr;rkk;)                              

 d2R/dt2 (t = 25) = +4 (> 0; R cr;rkk;)                              

     

 khwhf;   

 rhh;G  R  ,y; t = 21 vdg; gpujpapl; 

 R = 213/3 - (23*212) + (525*21) - 3825 = 144                     

     

 rhh;G  R ,y;  t = 25   vdg; gpujpapl; 

 R = 253/3 - (23*252) + (525*25) - 3825 = - 4961                 

     

 t= 21 Mf cs;sNghJ R cr;rkkhtJld;>  t=25  Mf cs;sNghJ  R tPo;r;rpkk; 

milAk;.   t=25 ,ypUe;J t=30 tiu  R mjpfupg;gJld;> t=30 Mf cs;sNghJ R=225

                                                                                                                                      

     

             vdNt 30 tajpy; tUkhdk; cr;rg;gLj;jg;gLk;.                     

 

2.   rpwe;j taJ tUkhdj;ij cr;rg;gLj;Jk;NghJ my;yhJ ,yhgj;jpid cr;rg;gLj;Jk; NghNj. 

    

3.     ,e;jj; Njitf;fhf kuq;fis ehl;b mWtilnra;Ak; fpuak; ftdj;jpw; nfhs;sg;gLk;.  

        Gzj;jpd;fhyg;ngWkjp ftdj;jpw; nfhs;sg;glNtz;bajw;fhd fhuzq;fs;;                                                          

- fpuak; xU Fwpg;gpl;l fhykPwhf ,Wf;fg;gLjy;  
- tUkhdk; fhyj;jpd; ,Wjpapy; gpwg;gpf;fg;gly;                                           

 

 

(nkhj;jk;:  10  Gs;spfs;) 
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gpupT 3 

tpdh 06 

cupa fw;if ntspg;ghLfs; :   7.4.1 / 5.2.2 

 

1.  

 

 nefpo;r;rpg; 
ghjPL 

cz;ik Kuz; Fwpg;G 

cw;gj;jp/tpw;gid (myFfs;) 70,000 70,000 -  
Neh;nghUl;fs;: 
      nghUs; X (&.’000) 
      jputk; Y (&. ’000) 

 
1,890 
1,820 

 
1,927.60 
1,747.20 

 
(37.60) 

72.80 
Adv. 
Fav. 

Neh;$yp (&.’000) 630 606.3       23.70  Fav. 
epiyahd Nke;jiy (&.’000) 300 320  (20.00) Adv. 

 

 

2.       jug;gl;l tpdhtpy; cz;ik cw;gj;jp 70% kl;LNk. ,e;j tpyfy; rfy khWk; fpuaq;fs; 
Muk;gg; ghjPl;bypUe;J tpyff; fhuzkhf mike;Js;sJ. cjhuzkhf> Muk;gg; ghjPL 

nghUs;  X f;F rhjfkhd Kuiz fhl;Lfpd;wJ. vdpDk; nefpo;r;rpg; ghjPl;Lld; xg;gPL 
mNj nghUSf;F ghjfkhd Kuizf; fhl;Lfpd;wJ. nefpo;r;rpg; ghjPL cz;ikahd 
nraw;ghl;L kl;lj;jpy; njhopw;ghl;LuPjpahd jfty;fis jUtjdhy;> KfhikahdJ 
njhopw;ghl;L tpidj;jpwd;/tpidj;jpwdpd;ik gw;wp njspthd tpsf;fj;ij ngwKbAk;.   

(3  Gs;spfs; ) 

 

3.  (i)      

       

      nghUs; tpiy Kuz; = (epak tpiy – cz;ik tpiy) * cz;ikf; nfhs;tdT 

   

      ,urhadk; X = (2,700,000/45,000*31,600) - 1,927,600  

                             = (31,600.00) ghjfk;                                                                        

 

       jputk; Y        = (2,600,000/65000)*44,800) - 1,747,200  

                             = 44,800.00   rhjfk;                                                                   

 

       nkhj;j tpiy Kuz; =        13,200.00  rhjfk; 
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(ii)  nghUl; ghtid Kuz; = (epak ghtid – cz;ikg; ghtid) * epak tpiy   

        ,urhadk; X = (31,500 - 31,600)*60 =  (6,000.00) ghjfk;     

        jputk; Y     = (45,500 - 44,800)*40 =   28,000.00  rhjfk;              

        nkhj;j ghtid Kuz;                         22,000.00  rhjfk; 

 

(iii)  $yp tpfpj Kuz; = (epak tpfpjk; - cz;ik tpfpjk;) * cz;ikahd Ntiy kzpj;jpahyk;

    

                                                  = (180*3,525) - 606,300 

                                                  =  28,200.00 rhjfk;                                       

 

(iv) $yp tpidj;jpwd; Kuz; = (epak kzpj;jpahyk; - cz;ik kzpj;jpahyk;) * epak tpfpjk;

    

                                                            = (3,500 - 3,525) * 180 

                                                            =  (4,500.00) ghjfk;                             

       

(v)   epiyahd Nke;jiyr; nrytpd Kuz; = (ghjpl;l FOH – cz;ik FOH)    

                                                                                 = 300,000- 320,000 

                                                                                 = (20,000.00) ghjfk;    

       

(vi)  epiyahd Nke;jiy fdtsT Kuz; =  

       (cz;ik cw;gj;jp-ghjpl;l cw;gj;jp) epak FOH/myF – cz;ik kzp) * epak tpfpjk;/kzp

   

                                                                         = (70,000 – 100,000) 3 

                                                                         = (90,000) ghjfk;            

   

4.      nghUl;fs; cw;gj;jpg; gpuptpdhy; my;yhJ nfhs;tdTg; gpuptpdhy; nfhs;tdT nra;ag;gLfpd;wJ. 
mjd;gb> tpiy Kuz;fis fl;Lg;gLj;JtJ nfhs;tdTg; gpuptpdJ nghWg;ghFk;. cw;gj;jp 
Kfhikahsh; cw;gj;jpapd;NghJ nghUl;fspd; gad;ghl;by; tpyfYf;F khj;jpuNk nghWg;ghth;. 
vdNt> nghUs; Kuz;fis tpiy Kuz;fshfTk; gad;ghl;L Kuz;fshfTk; gpsTgLj;jy; 
mtrpakhfpd;wJ. vdpDk;> nghUl;fspd; gad;ghL nfhs;tdT nra;Ak; nghUl;fspd; juj;jpdhYk; 
ghjpf;fg;gLtjdhy;> mJ kPz;Lk; nfhs;tdTg; gpuptpd; nghWg;ghfpd;wJ.     
  

 

(nkhj;jk;:  20  Gs;spfs; ) 
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Notice of Disclaimer 
 

The answers given are entirely by the Institute of Chartered Accountants of Sri Lanka (CA Sri 

Lanka) and you accept the answers on an "as is" basis.  

 

They are not intended as “Model answers’, but rather as suggested solutions. 

  

The answers have two fundamental purposes, namely: 

  

1. to provide a detailed example of a suggested solution to an examination question; and 

 

2. to assist students with their research into the subject and to further their understanding 

and appreciation of the subject. 

  

The Institute of Chartered Accountants of Sri Lanka (CA Sri Lanka) makes no warranties with 

respect to the suggested solutions and as such there should be no reason for you to bring any 

grievance against the Institute of Chartered Accountants of Sri Lanka (CA Sri Lanka).  However, 

if you do bring any action, claim, suit, threat or demand against the Institute of Chartered 

Accountants of Sri Lanka (CA Sri Lanka), and you do not substantially prevail, you shall pay the 

Institute of Chartered Accountants of Sri Lanka's (CA Sri Lanka’s) entire legal fees and costs 

attached to such action. In the same token, if the Institute of Chartered Accountants of Sri Lanka 

(CA Sri Lanka) is forced to take legal action to enforce this right or any of its rights described 

herein or under the laws of Sri Lanka, you will pay the Institute of Chartered Accountants of Sri 

Lanka (CA Sri Lanka) legal fees and costs. 
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All rights reserved. No part of this document may be reproduced or transmitted in any form or by 

any means, electronic, mechanical, photocopying, recording, or otherwise, without prior written 

permission of the Institute of Chartered Accountants of Sri Lanka (CA Sri Lanka). 
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